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1 2 3 “n 6 7 8 9 10
(1 (2) (3) 5) ® | (7 | (8 [ (9) [(10)
1|AB 525244 OxI OxI 1 0 0 0 0 0 0 0 ]17,50| 60 0 0 0 0 0 0 0 |##HH#| 420 | Oxi 1 Oxi |770,00 1
2|M033052 Oxi1 Oxi 1 2 13 | 60 0 0 0 0 60 0 0 251 | 420 Oxi 1 Oxi 731 2
3|AB 523131 OxI OxI 1 0 0 0 0 0 0 0 ]13,75| 60 0 0 0 0 0 0 0 |##HH#| 420 | Oxi 1 Ox1 695,00 3
4|AK598665 Oxi Oxi 1 12 0 0 0 0 0 0 0 0 231 0 Oxi 1 Oxi | 230,6 4
5[Al 602596 OxI OxI A 8 0 0 0 0 0 0 12,70 0 | 500 0 0 0 0 0 0 | #HH# 0 Oxi A Ox1 754,00 5
6|AK 812898 Oxi Oxi1 A 0 0 0 0 0 0 0 |[12,81] 29 0 0 0 0 0 0 0 | ##H#| 203 Oxi A Ox1 459,20 6
7|AI134935 OxI OxI A 2 1 13,36] 5 0 0 0 0 30 0 0 |#HH#| 35 Oxi A Oxi 332,20 7
8|AK 825087 Oxi1 Oxi1 A 0 0 0 0 0 0 0 |11,40] O 0 0 0 0 0 0 0 | ##H# 0 Oxi A Oxi |228,00 8
9|AH 598928 OxI OxI r 0 0 0 0 0 0 0 8 0 0 0 0 0 0 0 | 0,00 56 Oxl r Oxi | 56,00 9
10|AK838687 Nai Oxi1 1 0 0 0 0 2 0 0 |16,20] 24 0 0 0 0 60 0 0 | ####| 168 Nai 1 Oxi 552,00 10
11|AM 127899 Nai OxI A 0 0 0 0 0 0 0 ]13,76] 60 0 0 0 0 0 0 0 |##H#| 420 | Nai A Ox1 695,20 11
MINAKAZ AMNOPPINTEQN
APIOM.
A.M.| TAYTOT. AITIOAOTIA AMNMOPPIVYHZ
1 |GR0105063 TENIKA NMPOXONTA EMIAOIMHZ (3)
2 |AK041073 EKTOZ IZXYOZ O WHOIAKOZ TAXOIPA®OX
3 |=179559 XQPIZ WYHOIAKO TAXOIPA®O
4 |AH520240 EKTOZX IZXYOZ H AAEIA OAHIMHZHZ
5 |X314241 XQPIZ TYTIKA NMPOXONTA
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